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QUESTION 1

Given: If file "App.config" is not found, what is the result? 

A. Configuration is OK 

B. The compilation fails. 

C. Exception in thread "main" java.lang.Error: Fatal Error: Configuration File, App.config, is missing. 

D. nothing 

Correct Answer: B 
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QUESTION 2

Given: 

Which two allow a.Main to allocate a new Person? (Choose two.) 

A. In Line 1, change the access modifier to private private Person() { 

B. In Line 1, change the access modifier to public public Person() { 

C. In Line 2, add extends Person to the Main class public class Main extends Person { and change Line 3 to create a
new Main object Person person = new Main(); 

D. In Line 2, change the access modifier to protected protected class Main { 

E. In Line 1, remove the access modifier Person() { 

Correct Answer: CE 

 

QUESTION 3

Which command line runs the main class com.acme.Main from the module com.example? 

A. java --module-path mods com.example/com.acme.Main 

B. java –classpath com.example.jar com.acme.Main 

C. java --module-path mods -m com.example/com.acme.Main 
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D. java -classpath com.example.jar –m com.example/com.acme.Main 

Correct Answer: D 

 

 

QUESTION 4

Given: Which two lines can replace line 1 so that the Y class compiles? (Choose two.) 

A. map.forEach((k, v) -> set(v))); 

B. set(map.values()); 

C. super.set(List map) 

D. super.set(map.values()); 

E. set(map) 

Correct Answer: BD 

 

QUESTION 5

Given: What is the result? 
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A. Working Unknown 

B. Unknown 

C. Tuesday Unknown 

D. The compilation fails. 

E. Tuesday 

F. Working 

Correct Answer: B 
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